| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

20
track dz (cm)

20
track dz (cm)

track dz (cm)

0 20
track dz (cm)

0 ]
= H
Qe :
> .
n X
— © :
X .
o —
— 8 |x . o
= e ' ' —
Lo 2
2 .
8
o = o
3 .
LD °
I K] $ o
o € —
— @ I
b g
— 2 o
| = o
o ° I
& |
It} 8 N o
i i - g
=1 3 5 ]
syoes areddnp H z
0 _ o
N o
E £
QL
E >
3 0 5
o — ~
3 o ©
E g S
= Lo
o o
= I [Te}
3 ! o
3 o —
4 17 [
J LD
= Xt o
J | N
E & )
1 T
3 9 2
) )
5 5
H
Q= 5]
£
IS
[~ o
LD N
— O
3
o —
— O N o
s |8 =
[t} g
£
(=) 8 o
i g
g S
o
7 _
py o
| 2 [N
o 2 1
N 8
Y a [ I3
N 8 3
o ! s I
= =] S =]
syoesTdnn 111TH z
o
—_
o
£
T SRS
>
X
- e}
x
[5]
IS
5

0

-20 -10

0

<
o

syoer™

095=50-15-10-5 0 5 10 15 20 25

N of reco track vs dz

< o o
o o 2
=1 —

syoen

5
=3



	Contents
	Page 1


